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Q Preview Question

E‘ B&E 1-1 = [d NoLmit
Syall ;s Compound Fraction o
3 3
simlify 3. g bl ) s
3 o
"5
1
b. E @)

|
®)

0%



Q Preview Question

= B 1-1 o [ NoLimit
< lidl J> Solve The Proportion i)
Solve the proportion: teaalial) Ja 257
4 _18 da_18
13 39 13 39
- d=3 @)
b d=6 @)
c d=234 @)
o d=28.16 S
i

0%



Q Preview Question

ypsJl Jaso Rate of Change

O | =

=] 0

Find the constant rate of change for

Bl Jgtall eyl anl) Jaea cuwal

B&E -1

the table.
Time (h) 2 3 (h) a3l 0 1 2 3
Wage 2
(AED) 18 27 (AED) 0 9 18 27

0%

[ No Limit
o
o
@)
@)
@)
i}



Q Preview Question

— A - ..
=‘ E¢E1—1ls"bmitlmNoL|mlt
Syisdl da=]l Decimal i
. 1 R - . 1 “ 2:57
Write — 382 decimal. (e 28 Byga (A ~ 0 is)

. —0.0025 o

b —0.025 @)

< 0.025 e}

¢ 0.0025 @)
o

0%



Q Preview Question

— A - . .
— EQE%HMIQNOLWW
duwlidl 48\=Jl Proportional Relationship (i)
The height of two plants is recorded (e suul 3ug gl 20 (558 J b Juaudd a3 .
after 1, 2, and 3 weeks as shown Sl A pidge sa LS alad 530 ey
in the graph. Which plants’ growth 4.l dide opal e g3l clidl) L. bl
represents a proportional fJekally Gl o
relationship between time and
height?
9 ¥ 9 1Y
E, 6 _JlAplantsl ;‘l 6 ““lA ;_.L..JI}
2 »
<3 |4 , 251/
= ] _JB plan!sl s 3 I = B qL;J?l
AT T / =
X X
012 3 456 7 8 0 12 3 456 7 8
Time (weeks) (e._...uitu) RV
- B @)
i (gl
) Laga (@)
none of them
< A @)
Aand B
d @)
B sA
i)

0%



Q Preview Question

= BB -1 w0 [ Nolmi
o>l Addition o
Find: 1ol aagl 257
(—6)+(—14)+6 (—6) + (—-14)+ 6
2 14 o
b —20 o
[@ —-14 O
4 —26 o
i

0%



Q Preview Question

— A - . .
= | Bt 1-1 = [J NoLimit
4y gioll duuidl The Percent o
Find 15% of 200. 200 e 15% 22
= 3,000 o
b 150 o
< 30 o
d 175 O
o

0%



Q Preview Question

— N - . .
= | Bt 1-1 = [J NoLimit
4 glall duuidl SV leo Percent Equation o
13 is 26Y% of what number? faxe ol (2 26% s 13 -
. 338 @)
b 50 (@)
. 3.38 o
¢ 0.26 O
o

0%



Q Preview Question

— A - . .
=‘ EQE1—1IM1mNolelt
yuill 4 giall duwidl The Percent of Change (i}
Find the percent of change from ol 10 Ga atsll Aogial) Aucil) aa 257
10 yards to 15 yards. BaL15 A
2 33% 0]
b 15% @)
< 5% 0]
4 50% @)
i

0%



Q Preview Question

— A . . .
= | Bt 1-1 = [J NoLimit
33>9Jl Ja=o Rate Unite (i}
Sumayya biked 24 miles in b )k e 24 Alia pan ki -
4 hours. If she biked at a Al A ey cjl B LS 1Y) Lalelw 4
constant speed, how many miles  ¢5ualy dolu 4 Jaally \guakd ) dBlusal) a5
did she ride in one hour?
a 20 @)
b 6 o
< 28 @)
¢ 96 @)
i

0%



Q Preview Question

= BB -1 w0 [ Nolmi
)bl il Direct Variation o
If Y varies directly with X, X e Lyl Y s 1) 255
Find Y when X = 15, ifY=6 Y =651 X =15 3 Y gl
when X = 30. X =30 uc
« Y=3 o
6 Y =90 o
c Y=¢ o}
¢« Y=175 o
i

0%



Q Preview Question

— A - . .
= | Bt 1-1 = [J NoLimit
osdiuwsll Jro The Slope of a Line (i)
Determine the slope of the line. ol Jaa 22a ser
y
25
20
15
10
5
X
0 123 456
25-5
©15-3 >
5—3
" 25-15 O
15-3 o
© 25-5
. 25—-15 o
5—3
i

0%



Q Preview Question

— A . . .
=‘ E¢E1—1ls"bmitlmNoL|mlt
yusill deus Evaluation o
Evaluate the expression ¢ — a, O 0 — @ sl dad aaglf 258
ifa = 5,and ¢ = —9. €= —-93a =75
» 14 @)
b —14 0]
< —4 @)
d 4 o
i)

0%



Q Preview Question

— k . .
= EQ‘EM—H&\Q‘NOLWW
dalSil The Cost (i}
Youssef paid AED 8 for 12 eggs. i 12 Jilia AED 8 Caugs pdo 256
Determine the cost of 3 eggs. caliay 3 4RI saa
. AED 24 o
v AED 4.5 @)
. AED2 @)
i AED1.5 O
o

0%



Q Preview Question

—— N - . .
— E¢ﬁ1—1lwbmitlmNoL|mlt
»2adl The Estimation o
Estimate 629 of 5,000. .5,000 (4 629% 2:57
. 3,000 o
b 60 o
< 300 O
4 30,000 o
i)

0%



Q Preview Question

Slasazill elisl y2ull The Sale Price

. AED 15

. AED6

< AED 34

d AED 25

A shirt is regularly priced at
AED 40. It is on sale for 15% off
of the regular price.

What is the sale price of the shirt?

0%

B 1-1 o [ NoLimit
o
@liadddll (U LAED 40 (asedl) cilsy
el adl e 15% andaly pam
feliaddtl ol aull 5o L
@)
@)
@)
@)
o



Q Preview Question

L] k . .
=‘ EQ‘EM—H&\Q‘NOLWW
M| Interest o
Ahmad puts AED 1,560 into a A5 Glua A AED 1,560 eaf gl 257
savings account. The account pays Ay ddasen Aaglpe Glaad) AL L4y (aldd)
2.5% simple interest. How much Al o) o)l fae 98 L .2.5%
interest will he earn in 3 years? falgei 3 A
o 1=1,560x2.5%x3 0]
b 1=1,560X2.5 @)
« 1=1,560x0.025x 3 O
¢« 1=1,560x0.25x3 @)
o

0%



Q Preview Question

= B 1-1 o [ NoLimit

yusill deus Evaluate The Expression (i)
Evaluate the expression: i maadl) dad aa
2 +|-4] 2+ |4

2 —6 @)

b 6 @)

< 2 @)

o —2 @)

o

0%



Q Preview Question

= Bt 1-1 = [J NoLimit
douall SlacVl <o Multiplying Integers (i)
Find: @-u '\9\9? 2:55
—3(-4) (-2) —-3(—4) (-2)

a 9 O

b —9 O

. —24 @)

¢ 24 @)
i

0%



Q Preview Question

= B&E 1-1 = [d NoLmit
duall 3ol (e Slles)l Operations With Integers ;)
Evaluate (x + y) ~ (—5) if O (x + ) = (—5) dasd aagf 287
x=8andy = -3. y=—-33x=8
2 —5 ®)
- @)
| @)
da 1 @)
i

0%



